RIEFM:EERIE [MT-320]

Setting conditions

Display

Description

Total kWh display

Press key + .3 seC

Average Vu/A display

BRI VWA

Press [W]key  Press fisi| key

Average Vn/A display

BRI VnlA (B

Press |i| key * Press key —»

V1/A1 display

Fm V1A

Press |i| key * Press key —»

V1n/A1 display

FEor V1n/A1

Press |i| key * Press key —pi

V/2/A2 display

S V2IA2

Press |i| key + Press key — |

V2n/A2 display

FET V2n/A2

Press [W]key 4 Press fisbkey —»1

V/3/A3 display

S V3IA3

Press |i| key ¢ Press key —

V3n/A3 display

FEor V3n/A3

Press |i| key + Press key —p

Hz display

o Hz

Press |i| key i Press key —»;

PFdisplay

ZH PF

Press |i| key| Press key l

Total kWh display

FE4E kWh

Press |i| key l Press key ——p

kWh 1 display

FEo kWh 1

Press |i| key ¢ Press key —»t

kWh 2 display

BEow kWh 2

Press |i| key + Press key ——»

kWh 3 display

BN kWh 3

Press |i| key* Press key ——»

Total kW display

BUREE KW

Press |i| key  Press key ——»

kW 1 display

B kW 1

Press |i| key * Press key >

kW 2 display

B kW 2

Press [W]key * Press fspjkey —

kW 3 display

BT kW3

Press |i| key { Press key ——»

CO display

HUThRPE R E

Press |i| key | Press key ———
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1> Average Line voltage (L-L) & Line current display
2> n | is disappeared
3>Voltage "dp; =1 Current "dp; =0~ 3 (auto shift)

1> Average Phase voltage (L-N) & Line current display
2> 'n | is appeared
3>Voltage "dp ; =1; Current "dp ; =0~ 3 (auto shift)

1> L1 Line voltage (V12) : V1at "3P3L, ["n is disappeared]
2> L1 Line current (A1) : Atat "3P3L |
3>Voltage "dp; =1 Current "dp; =0~ 3 (auto shift)

1> L1 Phase voltage (V1n) : Vinat "3P4L , ["n, is appeared ]
2> L1 Line current (A1) : Atat "3P4L |
3>Voltage "dp; =1 ; Current "dp; =0~ 3 (auto shift)

1> L2 Line voltage (V23) : V2at "3P3L, ["n is disappeared]
2> 12 Line current (A2) : A2at "3P3L |
3>Voltage "dp; =1 Current "dp; =0~ 3 (auto shift)

1> L2 Phase voltage (V2n) : V2nat "3P4L , ["n , is appeared ]
2> 1.2 Line current (A2) : A2at " 3P4L |
3>Voltage "dp ; =1 Current "dp ; =0~ 3 (auto shift)

1> L3 Line voltage (V31) : V3at "3P3L, ["n is disappeared]
2> L3 Line current (A3) : A3at "3P3L |
3>Voltage "dp ; =1; Current "dp ; =0~ 3 (auto shift)

1> L3 Phase voltage (V3n) : V3nat "3P4L , ["n , is appeared ]
3> L3 Line current (A3) : A3nat " 3P4L |
3>Voltage "dp; =1 Current "dp;, =0~ 3 (auto shift)

1> Power frequency
2> Decimal point = 1

1> Power factor
2> Decimal point = 2

1> Integrate effective energy ( Total KWh )
2> Display range : -19999999 ~ 99999999
3> Tut=1.0,: Decimal point=3; Tut=0.1k ; : Decimal point = 1

1> L1 Integrate effective energy (kWh1)
2> Range : -19999999 ~ 99999999
3> Tut=1.0,: Decimal point=3; Tut=0.1k ; : Decimal point = 1

1> L2 Integrate effective energy (kWh2)
2> Display range : -19999999 ~ 99999999
3> Tut=1.0,: Decimal point=3; Tut=0.1k  : Decimal point = 1

1> L3 Integrate effective energy (kWh3)
2> Display range : -19999999 ~ 99999999
3> Tut=1.0: Decimal point=3; Tut=0.1k ; : Decimal point = 1

1> Effective power ( Total kW )
2> Display range : -19999999 ~ 99999999
3> Tut=1.0,: Decimal point=4; Tut=0.1k ; : Decimal point = 3

1> L1 Effective power (kW1)
2> Display range : -19999999 ~ 99999999
3> Tut=1.0,: Decimal point=4 ; Tut=0.1k ; : Decimal point = 3

1> L2 Effective power (kW2)
2> Display range : -19999999 ~ 99999999
3> Tut=1.0,: Decimal point=4; Tut=0.1k ; : Decimal point = 3

1> L3 Effective power (kW3)
2> Display range : -19999999 ~ 99999999
3> Tut=1.0,: Decimal point=4; Tut=0.1k ; : Decimal point = 3

1> CO; Integrate volume (Kg)
2> Display range : 0 ~ 99999999
3> Decimal point = 0
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Setting conditions

Display

Description

Running state

KA

Press A | ¢ key 3 sec

Lock setting

BERE

Press [ENT] key *

Input mode selecting

A X E I

Press ENT] key *

kWh unit selection

KWh 1% 4%

Press [ENT| key ¢

H
0
0
0
0

~
o
o=

L]
3
r~ =

Vv

"Lck.10  © All settable

1> TMP2L |, : Sigle phase 2 wires (1CT) 2> T1P3C , : Sigle phase 2 wires (3CT)
3> M1P3L : Sigle phase 3wires (2CT) 4> "3P3L , : 3 phase 3 wires (2CT)
5> "3P3C  : 3 phase 3 wires (3CT) 6> "3P4L | : 3 phase 4 wires (3CT)

1> Tut=0.1k , : kWh unit = 0.1kWh » Maximum input wattage < 1800kW
2> Tut=1.0,: kWhunit=0.001kWh (1Wh) > Maximum input wattage = 18kW

\2

1>Range : 1~999.9

CT rafio setting C t . f;l,- Ex: CtrA=20.0 — CTratio =100 : 5or CTratio=20 : 1
CT tefa ke
PressENT key
PT ratio setting Pt .r A 1> Input "5A ; : Range : 1~999.9 (dp=1); Ex : Ct_rA=20.0 —> CTratio=100: 5
PT bz & .o g 2> Input "mA  : Range : 1~9999 (dp=0) ; Ex : Ct_rA=3000 — CT ratio=3000 : 1
Press|ENTHkey
- - cC 0 2 E 1>Range : 0~ 1.000
CO:; coefficient setting ncE 1 25> Unit : Kg CO2e/KWH
HHE & AR B R
Press|ENT key R
- A Il T > ange : 0~
Alatm mczs!e ‘s‘electlng o 2> TALt=0 : Withoutalarm ; "ALt=1 : High alarm
MR ER "ALt=2: Lowalarm "ALt=3 : High & Low alarm
Press ke
@ / * - S 1> TRST=0 , : Un-resettable
WH reset protection r ’ 2> "RST=1 : Resettable (WH & CO2)
Fhe BT AR R 3> TWH, reset : Press the [SET & [o]& [P ]key 3 seconds
Press ENT] key | (mesz BET&[A]a[]se 34
5B JHRFR =N
BREFMEHERE [MT-320]
Setting conditions Display Description

KWH display

#~ KWH

Press key l 3 sec

Power factor alarm setting

ohF B FERZT

Press@ key ¢

Power frequency alarm setting

TIRIAF R E

Press key *

Voltage alarm setting

TR ERZE

Press @ key *

Current alarm setting

TR R

Press ENT] key *

Alarm hysteresis setting

Bip R EAERE

Press @ key l

KW alarm setting

KW 453 2

Press key ¢

KQ alarm setting

KQ #3535 5%

Press ENT] key

I E!I
0
-1 0
oY [
on 0

AL .PF
AL.HZ
6 00
L_V

2 200
AL _A
I 000
H Y §
(s

k u OO0
L 000
k o OO0
L 000

1> Range : 0.00~1.00
2> Alarm address ( 0212H/bit.8) : Alarm ON — 0212H/bit.8=1
3> dp=2

1>Range : 0.0~99.9
2> Alarm address (0212H/bit.7) : Alarm ON — 0212H/bit.7 =1
3> dp=1

1> Range : 0.0~999.9V
2> Alarm address ( 0212H/bit.1~3 ) : Alarm ON — 0212H/bit.1~3 =1
3> dp=1

1> Range : 0.0~999.9A
2> Alarm address (0212H/bit4~6) : Alarm ON — 0212H/bit.4~6 =1
3> dp=1

1> Range : 0.0~100.0% of AL_x
2> TALt=1,: PV=ALx* (1+HYS%) —Alarm ON

FALt=2,: PV=ALx* (1-HYS%) —Alarm ON

FALt=3,: PV=ALx* (1+HYS%) or PV=AL x* (1-HYS% ) —Alarm ON
3> dp=1

1> Range : -19999.999 ~ 99999.999
2> Alarm address ( 0212H/bit.9) = Alarm ON — 0212H/bit.9 =1
3>dp=3

1> Range © -19999.999 ~ 99999.999
2> Alarm address (0212H/bit.10) : Alarm ON —> 0212H/bit.10 =1
3>dp=3
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BRIEFMBRSEERE [MT-320]

Function Display Range Description

Control status

FEHIIREE
Press & E keyd 3 sec

Controller NO. 1 d 0~255 1> Range : 0~255
PEHER ARt

!
Press [SET] m key l
— 1> Trs=0 , : Modbus-RTU
Communication protocol r § 0~1 2> Mrs=1 , : Modbus-ASCII
W :IU
Press key

Communication speed b F; g
AR

Press [SET] key l
- i ’ 8n1/8E1 1> 78n1 : 8bitnon parity 2> 801, : 8 bit odd parity
Data configuration 801/8n2 3> "8E1,: 8bitevenparity 4> "8n2 : 8 bitnon parity
B ah s g 701/ 7E1 5> =701 ;: 7 bitodd parity 6> "7E1 , : 7 bit even parity

Press [SET| key |

y
0
0
(]
(=]

H

o0ooOo

0

96/192 1> "bPS =96 , : 9600 bps 2> "bPS =192 ; : 19200 bps
384 /1152 [3> "bPS=384 ,:38400bps 4> "bPS=1152 : 115200 bps

BEEFMERERUE

Address Description Bytes Address Description Bytes | RIW
0000H | "Wn , : L1Phase voltage (dp=1) a 0246H | "KQh | : Lagintegrated reactive energy of delay (dp=3) 4 R
0002H | "W2n | : L2 Phase voltage (dp=1) 0248H | "KQh | : Total integrated reactive energy (dp=3) R
0004H | "W3n , : L3 Phase voltage (dp=1) 024AH | "KWR1  : L1 Integrate effective energy (dp=3) R/W
0006H | AT, : L1 Line current (dp=3) 024CH | "KWh2 | : L2 Integrate effective energy (dp=3) RW
0008H | "A2 ,: L2 Line current (dp=3) 02 4EH | "KWh3 | : L3 Integrate effective energy (dp=3) R/W
000AH | "RA3 : L3 Line current (dp=3) 0260H | " KWHh | : Total integrate effective energy (dp=1) R
000CH | "PF : Power factor (dp=2) 0262H | "KWhr | : Integrate regenerative energy (dp=1) R
000EH | "Hz : Frequency (dp=1) 0264H | "KQh | : Lead integrated reactive energy (dp=1) R
00 10H | "W : Effective power (Total W) (dp=1) 0266H | "KQh | : Lag integrated reactive energy (dp=1) R
0012H | "@ , : Reactive power (Total Q) (dp=1) 0268H | "KQh | : Total integrated reactive energy (dp=1) R
0014H | "WM2 : L1Line voltage (dp=1) 02 6AH | "KWh1 | : L1 Integrate effective energy (dp=1) RW
0016H | "WM3 | : L2Line voltage (dp=1) 026CH | "KWQ2 | : L2 Integrate effective energy (dp=1) R/W
0018H | "W23 | : L3Line voltage (dp=1) 026EH | "KWh3 | : L3 Integrate effective energy (dp=1) RW
00 1AH | "KW, : L1 Effective power (dp=4) 2000H | "Int ; : Input mode selecting R/W

00 1CH | "KW2 | : L2 Effective power (dp=4)

00 1EH | "KWS3 | : L3 Effective power (dp=4)

0020H | "k@1, : L1 Reactive power (dp=4)

0022H | "KQ2 | : L2 Reactive power (dp=4)

0024H | "KQ3 | : L3 Reactive power (dp=4)

0026H | "W | : Average phase voltage (dp=1)
0028H | "R, : Average current (dp=3)

00 2AH | "W : Average line voltage (dp=1)

0030H | "A1, : L1 Line current (dp=1)

0032H | "A2 , : L2 Line current (dp=1)

0034H | "A3 | : L3 Line current (dp=1)

0036H | "R : Average current (dp=1)

0038H | "WAT  : L1 Average apparent power (dp=1)
00 3AH | "WA2 | : L2 Average apparent power (dp=1)
003CH | "WA3 | : L3 Average apparent power (dp=1)
003EH | "W | : Total apparent power (dp=1)
0040H | "KW, : L1 Effective power (dp=3)

0042H | "KWN2 | : L2 Effective power (dp=3)

0044H | "KW | : L3 Effective power (dp=3)

0046H | "KW | : Total effective power (dp=3)

02 10H | "602 | : CO: Integrate volume (dp=0)

02 12H | " Alarm status address ; : [bit.0=1] — ON
0240H | "KWh | : Integrate effective energy (dp=3)
02 42H | "KWHhr | : Integrate regenerative energy (dp=3)
0244H | "KQh | : Lead integrated reactive energy (dp=3)

3 TWH, reset : Pressthe[SET/& [A]& W ]key 3 seconds ( /5] e%4 [SETI& [A]&[W sz 3 #0)
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2001H | "wut=0 : unit=0.1kWh ; "ut=1 : unit=0.001kWh (1Wh)
2002H | "Lek | : Lock setting
2003H | "€COe | : CO; coefficient setting (dp=3)
20 04H | "W ; Voltage alarm setting (dp=1) [Alarm address : " 0212H-bit.1 ;]
2005H | "2 , Voltage alarm setting (dp=1) [Alarm address : " 0212H-bit.2 ;]
2006H | "U3 , Voltage alarm setting (dp=1) [Alarm address : " 0212H-bit.3 ;]
2007H | "A1; Current alarm setting (dp=1) [Alarm address : " 0212H-bit.4 |]
2008H | "RA2 ; Current alarm setting (dp=1) [Alarm address : " 0212H-bit.5 ;]
2009H | "RA3 ; Currentalarm setting (dp=1) [Alarm address : " 0212H-bit.6 ;]
20 0AH | "Hz ; Current alarm setting (dp=1) [Alarm address : " 0212H-bit.7 ;]
200BH | "PF; Alarm setting (dp=2) [Alarm address : " 0212H-bit.8 ;]
200CH | "KW ; (dp=3) Alarm setting [ Alarm address : " 0212H-bit.9 ;]
200EH | "kQ , (dp=3) Alarm setting [ Alarm address : " 0212H-bit.10 ]
20 10H | "HYS ;, (dp=1) Alarm hysteresis setting
20 11H | "ALT | : (0=ALT.0 » 1=ALT.1 » 2=ALT.2 » 3=ALT.3)
2012H | "rSt, : TWH , reset protection setting ( Resettable : bit.0=0)
2013H | "RESET,:"WH, reset (Reset : bit.0=1)
2014H | "GT , : CT secondary current [70 , =1A ;"1 ; =5A])
2016H | "CGT : CT primary current [Range=1~9999]
2018H | TPt : PTratio setting (dp=2) [ratiox100 (100 to 9999 )]
"Pulse unit |, : 0=1WH ; 1=10WH ; 2=100WH ; 3=1KWH

4=5KWH ; 5=10KWH ; 6=50KWH ; 7=100KWH ;
22 0EH | "WT ; VT ratiox100 (100 to 99999 )
22 10H | "G02f , : Conversion factor (factorx100 ; 0~9999)
FEFFH | "RESET ,: "WH , & "CO2, reset (Reset : bit.0=1)

22 0CH
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